a
Son. VAR

Visids = /70 Medhroins Lialko S
DuckS  Kills = Maiwd (49 +mian = (T
CGadosarl W+ HO HID 28 =
Weed Pk L 412+ A +6 =
Wigoen H+ H +4rk %
Tow [+ 144+ 2 =
Hoedod Mugosar | = %

Blo.(\( Docik | -

\
—

visi{ . AW s -

s"u;w@\ e

TR - e P Kitts = | beon 7%



/V)ch‘gja R /3&11*0 %

Ducts = [0 Giaids
Al s = Maltesd = (b #8230
Gradwelt = [+E€+ 1
Weed Qs 2 4 434 (A
Teol (!
Hocdsd Mai pms st Gh
Dlack Pucth , J+ |

Covud ™ G’O:}‘B £Q 0

5.<)u;;c;\_n \ /Il vis A S
Kas  |O

Dssx (Bows) 53 visiys
K \s - S@ - DO
. l ‘IBQ(\(

KO(QQ\/\ ( U;‘):Z}'
[.(;\\‘ \

H®3 3 ¢ 5L S =
(A |




1aaq

30«\. M
HoMsid O
Duc. 283 Lisd &
Muiloactie o2, IO SIBLED LS S5
Guém\\ C‘,S,[([”.Q/'ﬁ(,qt
Weed Pect¢ Loy b, T 13,7, 3
Teood e = 4,0 @50,
bu'\t)‘om\/\ l, 3, 3,\Lﬂgg\zﬁ
/),\J\JO(\[ )l
MLMMBG;W | ' (
RdUed (I
Cauncss hecC i
3 hyea\ss ‘
/
5-791(”\\ Uoisdds
S M b
Dssk Bow TP vesix

(K Q- D0
| Bocd 7€



e
/ { “1 Cl

{DC/'(.,‘\ NI \ :—

[




